BT Z

ERELT Y \-;ifg_\;b“\w«f a;}gfﬁgﬁf,

£ B 110 & 111 # TERED
B (111 & &~ pFe) | (112 &#4p) | 112 &4 7% 30p
- e % 51.70 47.00 31.65
5 ;; B (6 19.20 23.95 24.60

T = 33.90 35.45 27.77
AL A e W 7.61 8.02 7.89
EE (A 7.61 ((:L.5) —
e BTN 79,400 i+ i% 79,400 i+ 1% 79,400 i+ "%
Bl B S5 2 i —
T iﬂﬂ f% HE w0 7 0.33 0.20

I RS 0.33 0.20 —

z % ‘H 0 O(F ) _
F AL 50 A A AL el —
S s B x 0GES) —
il R 0 0(:x 4)

B AR A R 0 0 —
LE|AEYGED 102.73 177.25 —
ﬁW'ﬁ1L%ﬁ2) — — —
AT IR & A ] F (G 3) 0 0 —

;‘11 AEW=FERERTOER S FRFH -
T2 A =3 ERE wlb»]'(ﬁi%:/i IR &R e
X34 w“ﬂ;gﬂ * == af‘mﬁ};;afq/g ERE 5;;1&:;113:4;3;%: o
A ERPAEBAEECETT CHE 0 ¥ A0 112 200 F €45
IS ik EE AT ERL Y §ARE FROREERAE o
6 AREE S FLFABESRT BRI D ) BT 5 ;,g’iwﬁ%*’
TR AR e RE IR T EEN D L ERTH
D P BAIFCR E AR

1 flrc ]

AP EREE Ao B ki BRI 0 A R RASIT
LR 10% 2 X @eaft - Lz AR A7 RT A
PFo B2 L4 B 2L R KNSR ESLBFTEOH S 4o
FIARE AR AFALRES I IFERLIZBIRERET R
%Lg)f‘;a’\g;iréi‘g R a’\ﬂf"e 4 ‘H

ROTCRAELL RENIRIE LN R PA
’F«é}_%ﬁ%"}"/%ﬁ;g gxé‘fﬁ;!ﬁ/ fﬁ‘}\’é}j -&fi"l‘-}’f é'&‘-"”ﬁ
@éﬁ’ﬂ\)??—mﬁﬁ’%’p ?P;*ﬁaﬁl"v\/"\” Al HP IR AR
FI 3 @ MRSz T A2 0 IR ERFE R E K 0.1 2R
F A A B R B ORI A o

AR R4 e

(D*?Fﬂﬂiﬂﬁﬁﬁﬁﬁ’ﬁ*1u£39179515%%
s »;f%;:s;«flj o

)FFFAlFc G X HFFE o L EmP &




